
NOTES:

1. INSTALLATION TO BE COMPLETED IN ACCORDANCE WITH MANUFACTURERS 

SPECIFICATIONS.

GRADE

1
3
'-5

" 

R
E

F
.

7
'-1

1 
1
/2

" 
R

E
F

.

12
4

6 "
Rectangular One Tiers Steel Structure Park Gazebo

GAZR1T

www.taimco.ca



All Structural Parts:

• TUBE: ASTM A500 GRADE B.

• PLATE: ASTM.

• A36  BOLTS ASTM A325.

• NUTS: ASTM A563.

• WELDING: GMAW.

GRADE

6 "

1
3
'-
2
 1

/8
" 

R
E

F
.

8
'-0

"

26'-8 1/2" REF.

 
4
0
'-
8
 1

/2
" 

R
E

F
. 

www.taimco.ca



MULTI RIB PANEL SECTION

3
/4

"

1 
1
/4

"

12" CENTER

TO CENTER

36" COVER WIDTH

37 1/2" OVERALL

1 1
3
/1

6
"

WASHER

WASHER

1 1/4" PAINTED SCREW

FASTENERS

3/4" PAINTED SCREW

24'-0"

1 1/4" PAINTED SCREW (1) 

ON EACH SIDE OF THE RIB 

ALONG THE RIDGE

3/4" PAINTED SCREW (1) 

ON EACH SIDE OF THE RIB 

ALONG PURLIN (IF REQ'D) 

84'-0"

3/4" PAINTED SCREWS (1) 

ON EACH SIDE OF THE RIB &

(1) IN BETWEEN EACH RIB 

ALONG THE BEAM

1 1/4" PAINTED SCREW (1) 

ON EACH SIDE OF THE RIB 

ALONG RAFTER

METAL ROOF INSTALLATION

www.taimco.ca



6
"

E
M

B
E
D

M
E
N

T

4 "

1
0

"

3/4" ANCHOR  

BOLT (4) PLCS

LEVELING NUT

(2) 3/4" NUTS

(4) PLCS

 CONCRETE FOOTING  

NOT BY ICON.

20'-0"

2
6
'-

0
"

20'-0" 20'-0"

1 
5
/1

6
"

1 
5
/1

6
"

2
5
'-
9
 

3
/8

"

www.taimco.ca


	Slide 1
	Slide 2
	Slide 3
	Slide 4

